Study Question 6

Xerox had a legal monopoly in copiers in the United States throughout the 1950s due to its ownership over a patent for the "Haloid" copying process.  The patent expired however in the early 1960s.


Xerox maintained its monopoly however until the 1970s.  Disgruntled competitors sued Xerox for illegal monopolization.  They claimed (among other things) that Xerox had erected barriers to their entry by a strategy of model proliferation.  In particular, the competitors argued that Xerox would announce its intent to market a new copier model with product features just like the entrant was developing shortly (six months) before the (potential) entrant's product was ready.


What type of economic models can be used to analyze the economic plausibility of the entrants' claim?


Does a monopolist have an incentive to "preempt" entry by the proliferation of models or brands?

